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To count in ,50s and 100s

(

To know number bonds for all numbers up to 20
The children should know the Count in S0z Count in 100z
rarnber Bl To all marmbers up ) 100
122049 100 200
b Eomady #o 15
O+15=15 150 300
143413 200 400
F+13=1%gre I 500
Mimber Bosady #o 18
B+ 16 & 16 300 600
1+19= 1% 350 100
2+ 14 = 1k ehe. 400 BOO
The rumber bench thal ratal 1 200 1000
A4S e T E R I
13 04 1516 K7, 18 19 and 20
Gknowthe3timestable o o 19a 0x3-0 3:3:1 Key vecabulor \
. . 0 1x3=3 6+3:=2
By the end of this term, children 3 2x326 9+3:3 What is 3 times 37
should be able to instantly recall the 6 3x3=9 12:3=4 . o7z
9 4x3=12 15+:3=5 What is 8 multiplied by
following facts. 12 5 : 3:15 18 i 326 3?
15 6x3=18 21:3=7 &
18 7x3=21 24+3:8 ol
21 8x3:=24 27+3=9
24 9x3=27 30-3=10 What is 27 shared
27 10x3=30 33+3:=11 between 3?
30 11x3=33 36+-3=12
33 12x3=36 What is 12 divided into
\ 36 groups of 3? )
Top Tips \

The secret to success is practising little and often. Use time wisely. Can you practise these facts while walking to school or

during a car journey?

TT Rockstars-https://ttrockstars.com/

Hit the button- https://www.topmarks.co.uk/maths-games/hit-the-button




